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G | At+E BA

AT BX
1515 9:30~10:145
EE | & E |5 K % g 1 2 3 4 5 6 | X#| Bt | B *F
111 M | SFE At ZWES®K  [100.8 |101.3 {100.1 [102.9 [102.4 |101.8 | 33 609.3 | 1[EHE
112 M | 8RB BZh0 TR 99.4 [98.3 | 963 |99.1 [96.8 |96.0 |20 585.9 | 1[EH
R |1]113]| M | XxH# &K t¥y397° -7°  |103.4 [104.6 [103.3 |101.2 |102.2 |103.1 | 42 617.8 | 1[EE
1(14| M HwE Z RIFE 101.8 [101.8 |102.0 |100.6 |104.5 [103.7 | 38 614.4
29VEE 11:30~12:45
EE | 5 E |5 K % g 1 2 3 4 5 6 | X#| AF B *
21 3| M | HAZE Flk N 89 82 85 77 87 85 7 505
A 21 4| M| BB R TR 83 86 77 75 83 81 2 485
5 25| M | 2 R 83 85 89 86 85 85 2 513 | 1[EIAE
216 M | W& Fx AR 82 84 84 81 90 9 | 4 511
2| 7| M | E4K FEEB BEE 81 84 84 85 86 88 3 508 | 1[mEIHE
219 | W | BH E7F ZMESR  [100.7 |104.4 |101.5 [101.8 [101.7 |104.0 | 37 614.1 | 1@
2110 M | BH F® TR 93.5 [ 92.4 | 954 |100.7 [102.2 | 96.4 | 15 580.6 | 1[EH
2111 M | BR =X HRELEHR  [105.3 [102.1 |103.6 |104.6 [103.8 [103.7 | 46 623.1 | 1EB
21121 W | &Il =& BEEHRZ (1014 [ 99.4 | 99.2 |103.6 [ 99.5 [101.3 | 26 604.4 | 1[EH
. 213 W | L@ #EF ¥y -7 102.9 | 99.2 |101.9 |100.2 [101.4 [102.4 | 32 608.0 | 1[EH
21141 M | FE it ZH R &SR 99.7 |100.8 |102.8 [100.7 [103.3 |102.4 | 32 609.7 | 2[EH
2(15( M | umE BEf BHREILEHZ  [102.2 [103.5 | 98.7 |101.7 |101.2 [100.4 | 34 607.7 | 1EAE
2116 W | FIEE B [soczy—r7h72—] 99.9 [103.6 [103.8 {103.3 |101.8 [ 99.9 | 35 612.3 | 1EH
2117 W | JIIRt 1&E |Joczu—+t7H»7s—[102.3 [100.9 |104.1 |103.4 [105.2 [102.3 | 38 618.2 | 1[EH
39EE 13:30~ 14 : 45
BE |4 E |5l K % e 1 2 3 4 5 6 | X#| &F B =
3|5 M| #BBE EHE R 83 88 85 90 81 84 | 5 511
. 3|6 M | ZEE —X fRZR) IR 79 77 90 89 87 84 | 9 506 | 1[REIE
3|7 M| BB fE— IR 71 68 84 85 86 82 3 476 | 1MEE
39| W | R =¥ ZWES®  [100.3 |102.1 {102.4 [101.9 {100.0 [101.3 | 30 608.0 | 2[EH
310 W | LB #EF a9y -7 100.2 |102.2 |102.7 | 99.0 [101.1 |100.8 | 28 606.0 | 2[EH
3[11f M | E BEsf EREER 102.0 (101.7 |101.8 |102.1 [100.3 [100.5 | 35 608.4 | 2[EH
312 M | EXH EX t¥y397° 0-7" |102.4 [100.3 [103.2 |102.8 |104.6 |102.0 | 40 615.3 | 2[EH
R |3|13| W | &Il =B HERHFE 99.1 |101.1 {102.3 [100.0 [100.2 | 99.4 | 30 602.1 | 2[EE
3114 M | BEER =X ER#EAK [105.0 [103.1 |100.9 |102.9 [103.3 [101.5 | 39 616.7 | 2[EB
3/15| M | FH E=E ZR 99.1 | 96.9 |100.7 [100.1 | 98.7 | 99.3 | 25 594.8
3116 M | BEH FE ZR 100.5 | 97.3 |[101.9 | 90.8 | 97.8 | 95.7 | 24 584.0 | 2[EH




